20

10

-10

20

10

-10

20

10

-10

T
1

TF Torques \/

Shot: 2763, Param. Tree 72

IDL: Max= 3.57899e-06, Min= -4.57548

TF SS and OoPM, Top_Torsional_Sheer_Stress (normal, circular)
DCPS: Max= 3.5789874e-06, Min= -4.5754806
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E_IDL: Max= 4.27031e-06, Min=-4.57423
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g TF SS and OoPM, Top_Torsional_Sheer_Stress (post. dis., circ.)
- DCPS: Max= 4.2703061e-06, Min= -4.5742278
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TF Torques \/

Shot: 2763, Param. Tree 72

IDL: Max= 4.35426e-06, Min= -4.57408

TF SS and OoPM, Top_Torsional_Sheer_Stress (post. dis., shaped.)
DCPS: Max= 4.3542597e-06, Min= -4.5740757
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Shot: 2763, Param. Tree 72

IDL: Max= 1.21144e-06, Min=-0.224686

TF SS and OoPM, Mid_Torsional_Sheer_Stress (normal, circular)
DCPS: Max= 1.2114403e-06, Min=-0.22468604
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E Shot: 2763, Param. Tree 72 g
E IDL: Max= 5.23340e-07, Min= -0.224482 3
= TF SS and OoPM, Mid_Torsional_Sheer_Stress (post. dis., circ.) 3
E DCPS: Max= 5.2333957e-07, Min= -0.22448189 =
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TF Torques

Shot: 2763, Param. Tree 72

IDL: Max= 6.54884e-07, Min=-0.224437

TF SS and OoPM, Mid_Torsional_Sheer_Stress (post. dis., shaped.)
DCPS: Max= 6.5488395e-07, Min=-0.22443735
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TF Torques

Shot: 2763, Param. Tree 72

IDL: Max= 9.35378e-06, Min=-0.359976

TF SS and OoPM, Bot_Torsional_Sheer_Stress (normal, circular)
DCPS: Max= 9.3537808e-06, Min=-0.35997587
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E Shot: 2763, Param. Tree 72 g
- IDL: Max= 9.02966e-06, Min= -0.360071 3
= TF SS and OoPM, Bot_Torsional_Sheer_Stress (post. dis., circ.) 3
= DCPS: Max= 9.0296569e-06, Min= -0.36007059 =
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= Shot: 2763, Param. Tree 72 3
- IDL: Max= 8.56517e-06, Min= -0.360206 3
= TF SS and OoPM, Bot_Torsional_Sheer_Stress (post. dis., shaped.) 3
= DCPS: Max= 8.5651684e-06, Min= -0.36020632 =
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Fault Ends: 0.73268009
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- TF Torques
E Shot: 2763, Param. Tree 72

Fault Starts: -0.63209002
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- IDL: Max= 364707., Min= -0.0634655
E TF SS and OoPM, al_OL_OoPM (normal, circdular)
F DCPS: Max=7364706.55, Min=-0.063465466  \  ~ — ~— — ~— T~ ~77
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E Fault Starts: -0.63209002 :
" Fault Ends: 0.73268009 E
E TF Torques g
E Shot: 2763, Param. Tree 72 3
- IDL: Max= 364707., Min= -0.0634655 =
- TF SS and OoPM, al_OL_OoPM (post. dis., circ.) g
- DCPS: Max=364706.55, Min=-0.0634654%6 )\ ~ ~ ~ ~ ~ ~ — — ~ ="~ 77 3
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E TF Torques g
E Shot: 2763, Param. Tree 72 3
- IDL: Max= 364707., Min= -0.0634655 3
E TF SS and OoPM, al_OL_OoPM (post. dis., shaped.) g
- DCPS: Max=364706.55, Min=-0.063465466 )\  ~ ~ ~ ~ — — ~ =T~ 77 -
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TF Torques

Shot: 2763, Param. Tree 72

IDL: Max= 86753.1, Min=-5.16123

TF SS and OoPM, Half_OoPM (normal, circular)
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DCPS: Max= 86753.058, Min=-5.1612297
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E TF Torques E
E Shot: 2763, Param. Tree 72 =
E IDL: Max= 86184.2, Min=-4.26529 §
E TF SS and OoPM, Half_OoPM (post. dis., circ.) 3
= DCPS: Max= 86184.216, Min= -4.2652840 3
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TF Torques

Shot: 2763, Param. Tree 72

IDL: Max= 86105.7, Min=-4.14168

TF SS and OoPM, Half_OoPM (post. dis., shaped.)

DCPS: Max= 86105.739, Min=-4.1416795
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= TF Torques =
= Shot: 2763, Param. Tree 72 3
E IDL: Max= 184534., Min= -1.63952 3
= TF SS and OoPM, Lower Outer OpPM (permal, circular) 3
= DCPS: Max= 184534.33, Min= -1.6395184 =
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E TF Torques E
= Shot: 2763, Param. Tree 72 3
E IDL: Max= 184925., Min= -1.65706 3
= TF SS and OoPM, Lower Outer OpPM (pest.-dis., circ.) E
= DCPS: Max= 184924.57, Min= -1.6570622 =
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= Shot: 2763, Param. Tree 72 3
E IDL: Max= 184839., Min= -1.52291 3
= TF SS and OoPM, Lower Outer OpPM (pest-dis., shaped.) 3
= DCPS: Max= 184839.39, Min= -1.5229065 3
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Shot: 2763, Param. Tree 72

24108 = TF Torques
E IDL: Max=123134., Min=-1.49418

-3¢10° .
TF SS and OoPM, Upper_Outer_OpPM (normal, circular)
DCPS: Max= 123134.30, Min=-1.4941803
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Shot: 2763, Param. Tree 72

IDL: Max= 123387., Min=-2.82614

TF SS and OoPM, Upper_Outer_OpPM (post. dis., circ.)
DCPS: Max= 123387.45, Min=-2.8261378
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= Shot: 2763, Param. Tree 72 3

s 1065 IDL: Max= 123334., Min=-2.60003 =
i = TF SS and OoPM, Upper_Outer_OpPM (post. dis., shaped.) 3
= DCPS: Max= 123334.30, Min=-2.6000335 3
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